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THREE YEAR B.A./B.Sc./B.Com. (CBCS) DEGREE EXAMINATIONS,
AUGUST/SEPTEMBER 2021.

FOURTH SEMESTER

Part III — Foundation Course — 9

ENTREPRENEURSHIP EDUCATION
(w.e.f. 2016-17 Admitted batch)

. Time : Two hours Maximum : 50 marks

(No additional sheet will be supplied)

SECTION A — (5 x 2 =10 marks)
Answer any FIVE of the following.
. Each question carries 2 marks.
e 1808 T0 008 IPT° B3 FIFHTHIL @rafuBw.
' 5 3HH 2 S0,
1.  Successful entrepreneur.
DBADIOBLD JFPFTIRE.

1o

Opportunity recognition.
357 HBodoe.

3.  Meaning of Project Report.
BBy 9388 SIshA

4. Need for Market Analysis.
S0 85 DT DS,

5. DIC.

(- 0

6. Rehabilitation.
HRTZTZHDA.

-3
h

Financial Analysis.
e85 256,

8.  Sources of new ideas.
578 85 530% Jureren.

9.  Generating ideas.

53308 Eraro8odt.

10. Technical Feasibility.
0SSE Mlsé



11.

12,

13.

14.

15.

16.

18.

19,

20.

SECTION B — (5 x 8 = 40 marks)

Answer ALL questions.
Each question carries 8 marks.
) (O FBIGRHHVe) [@P050DN.
WO (50 8 H°8o,00.

Explain the characteristics of Entreprencurs.
SFPYTSLI0 ofETod K80 dHBoBHod.

Or
Define the forms of Business Organisations.
TS By 80D dYgdoDHs.

Write about the techniques for generating ideas.
&S 500 EIr20B0D IR 180D Fraod.

Or
Describe the different steps in tapping opportunities.
eITOR F0BE0S® DA BB DHB0WOE.

Discuss the contents of project report.
BE IDBES® SroESEBHeVN ©0TeRy BBY0BOE.

: Or
Explain the functions of NABARD.
NABARD 2¢00:0 K80 9580%508.

Write an essay on State Finance Corporation.
U“éx eﬁg§ Q0500 K803 2.8 TR EPAkVd.
Or

Suggest the guidelines for Report preparation.
HHBE BAIrB8 Mo HIEEYsoR JIPD0B0&.

Describe tax incentives and concessions to the start-ups.
B-00) £ (H20850 ©0B8%) Sy FIfAHs e HHBA REIrsTe dB8ovod.
4 Or |

Explain the salient features of new Industrial Policy of Small Scale Industries.

D) B SBEDOL Jowofod BIGH FDFE DG Sa)y o¥pren 95800l
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THRER YEAR B.Com. (Gen) & B.Com. (Comp) (CBCS) DEGREE EXAMINATIORN,
SEPTEMBER 2022.

FOURTH SEMESTER
INCOME TAX
(w.e.f. 2020- 21 AB)

Time : Three hours Maximum : 75 marks

(No additional sheet will be supplied)

SECTION A — (5 » 5 = 25 marks)

Answer any FIVE of the following questions.

Each question carries 5 marks.

DD D (50 IITEIEHIN) EEEIBW.

50 555 b SrEen.

1. Explain Agricultural Income.

S50 esmrasrR) 2580504,

2.  Define perquisites. State its features.

S8z edrR? o7 offTed 3580HD0.

3. Whois a deemed owner ?

LG O52235T°R) e9MTRdI?

4.  Explain casual incomes.

A prdes esoraires) 9580908,

5. Deduction U/S 80 ‘D',

ES 80 D’ (808 BRoY



=~

9.

10.

Deduction U/S 80 ‘GG’.

255 80 ‘GG’ (808 BRo

Interest and dividend.

5G S8t Aok

Permanent Account Number.

T e :éoabé.

@

(b)

(a)

SECTION B — (5 x 10 = 50 marks)

Answer ALL questions.
Each question carries 10 marks.
O FHOLD SSTegEsSven @r"oinmo
(L3 %)% 10 o) e0.
What are the different categories of Assesses accordmg to Residential status?
) DE58 oI I a5 DBI80 D disor DG00I,

Or

What is agricultural income ? How is it treated for Income tax purposes ?
S§9aD0 esTraHHo ITRN? BTrADY) S8Y) §°8H RIS BEATRY) Q Do JBe3od?

Smt. Archana is working as a Lecturer, her salary details are ag follows.

Basic pay Rs.18,000 p.m.; DA Rs.5,000; HRA Rs.1 000 p.m., C.cA Rs.1,500 p.m;
Professional tax paid by her Rs.175 p.m. Compute income from salary if she is workine
In a government college.

290G O8Yd 2.8 BE6 5&)3"..3_.3, B BBY) 9T Se (808 a¢ore 3daHEdos.

o7 260 Dot 617.18,000 K55 GB350 Joh> 675,000 208 & F8550 e &v.1.000
ARG SBIE 458550 DoH 81500 w3, 3 DPoBED 3yB Iy J0H Kr.1TS e 19g0BS
Yorgrod® S0DMS° dare od ST B8) 0530

Or
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(b) From the following particulars find out the taxable salary of Ms.Divya working at
Coimbatore (Population more than 11 Lakhs).

(i)  Salary Rs.12,000 P.M.
(1) DA Rs.1,500 P.M.
(i11) Bonus Rs.8,400

(iv) Employers contribution to employess recognized provident fund 14% of basic
salary.

(v) Rent free accommodation (unfurnished) fair rental value is Rs.80,000 p.a.
expenses on maintenance of garden met by employer Rs.3,000.

(vi) Interest on provided fund balance @ 13% p.a. Rs.3,900.

(vii) A car (1.4 litres in capacity) is provided by employer. All expenses are born by
employer. It is used both for performance of duties and private purposes. Car was
used by employee for only 11 months during the year.

(viii) She paid professional tax of Rs.200.
(ix) She received Rs.500 p.m. as fixed medical allowance.
BID DEHNO 008 FH0B Bidg SRY K8 exdly B0 88,0980 11 5L 200D ZT /o

Se9e206° 5D Bod.

() BBd0 deH .12,000

(i) ED By 8.1,500

(i) #H°5 &~.8,400

(iv) CHwATD DPod &ER G0k, K080 08D PIJPB BB 14%

() eBBd MTHeS (4355mane: BB) A o end Son oR3 §7°.80,000 30

358550 8% DEGTED PEOL AZR DYodNE 65.3,000.
(vi) 25055080 Dege P 13% TIpd 56 &.3,900.

(vii) Sorsedss 3586 EBREAND e S (14 del) AOuITD BOLPHEIG o

B0 AHEETD R, SR G Soned” 11 Jven JrERo EHIRE

(viii) &30 DeLd 837200 5B SRy 380d38.

(i) &0 Do 8500 REDLs 5N 20858

3 (2rs 44012)




11. (a) Calculate the Income from the house property of Sri.Anil in the assessment year
2022-2023.

Particulars House A House B

Municipal rent 75,000 1,50,000

60,000 1,90,000

Fair rent

Actual rent 6,000 p.m. Self
standard Rent 50,000 1,20,000
Municipal Tax 5,000 7,000
Unrealized Rent 2,000

Compute Income from House property.

Sri 05 295 5+ 208 99T H0d HyFR SEAY) 2022~ 2023 FondS SRRV

ddoeen HroA Mo B
D08 &3 75,000 1,50,000
AOES & 60,000 1,90,000
TRS & ' 6,000 0K FoBITH0o
B5re3s &3 - 50,000 1,20,000
D08 I3y 5,000 7,000
337 570 3 ‘ 2,000
2083 &9 Mod II) soraY) B 00k,
Or

4 C 2 RS 44012 )




()  Mr.Anand is a chartered Accountant in Hyderabad. His receipts and payment account
for the previous year is as follows :

Receipts
To balance b/d
To dividend
To professional income
To House Rent
To Race course income (Net)

To lottery prize (Net)

Additional information :

Rs. Payments
56,000 By salary
64,000 By Rent

5,60,000 By Telephone charges
90,000 By professional expenses
24,000 By motor car expenses

1,20,000 By Misc. Expenses

By purchase of car (30" Sep)

By advance income tax

By personal expenses

By purchase of professional books

By electricity

By LIC premium

By Balance c/d
9,14,000 -

@)
(i1)

1/3 of car expenses pertain to personal use

Depreciation of motor car allowed is 20%

Rs.
1,00,000
60,000
24,000
20,000
48,000
30,000
1,80,000
1,00,000
1,80,000
8,000
4,000
16,000
1,44,000
9,14,000

(i) Rent includes Rs.30,000 paid for residential accommodations

(iv) Misc. expenses include donation paid to a notified temple Rs.20,000 compute his
total income for the assessment year.

Mr. e5508 2paoartos” 28 88 @5 0B0t 0608 $0w0God SR by 3o e

1808 Do HYB.
ST
To 32y deg
To &280&5
To %y 00l esorafdo
To q0€3 &3
To 85 5%y eseaifo (RELO)

To exeod 2350808 (DE0)

8. 3doHen
56,000 By deren
64,000 By eig

5,60,000 By 36245 Ffeo
90,000 By $yB5830% pEe
24,000 By Breerdd 5760 PE)eR

1,20,000 gy 208 PE)E

(s

ao.

1,00,000
60,000
24,000
20,000
48,000

30,000

(2Rrs 44012 )




12.

(a)

B s, 2H0Ho) g7,

By 5265 §75R%0) (Wpowb 30) 1,80,000
By maoﬁﬂf\’xj 30 A50Q) $iY) 1,00,000
By 558K6 snye 1,80,000
By 5y88 Somofonid Hisren E5R%e) 8,000
By 26556 4,000
By dnedisr (hasdho 16,000
By 30y% 2oy 1,44,000
9,14,000 " 9.14.000

OSDY) dATTEOo :

(i) drertd Hars” 1/3 S0t 5581635

(i) Dorerdd 528 P BEIDE 20% ©530809EHE
(i) eg&S® 8.30,000 35816 DT D8 Sowofodss

(iv) 1S 20y5 657.20,000 298 HENES” 5O GHB (S35 35y DTS SoSBYTDE eBD

-

38 od Zlageripcs)) 88) 0%,

From the following data calculate capital gain of Mr.Venkat.

(i)  Sales of residential house on 31* December 2017 Rs.15,00,000

(i) Purchase of another residential house in March 2018 Rs.2,00,000

(iii) Investment in bond on 15t Jan, 2018 which qualifies for U/S 54EC - Rs.50,000

(iv) House, which was purchased in the year 2007-08 for Rs.3,00,000, and was sold on
31# December 2017, (CII: 2007-08: 129; 2017-18:272)

6 ( 2 RS 44012 )
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(b)

e 1308 29D 9070 GFTIMT Mr. Jokth @), BT egrom U ol
(1) ERod 31, 2017 T DD Ko ebyto Hevd.l 5,00,000
(1) ;3.3"‘8‘) 2018 30O DOE™E DTN K‘)b"o §%0R ey Deod &r.2,00,000

(iti) =998 15, 2018 T w70 SRR DES(54 EEC) 8.60,000

@iv) Grotd 31, 20173 e‘)&)&é KJ‘KI‘I&D %R0 9005 2007-08 ared 83°.3,00,000,
(CII: 2007-08: 129; 2017-18:272)
Or

The following particulars given by Mr.Madhu to calculate the Income from other

sources.

(@) Rs.25,000 received as Interest from government securities Rs.2,000 spent towards

collection charges.
(ii) Dividend from an Indian company Rs.40,000
(iii) Dividend from foreign company Rs.15,000
(iv) Family pension Rs.12,000
(v) Gift received from friend Rs.80,000
Mr. S50 a9y 5070 GBS0 ABY DK Kool BN STEATTY R4,

(@) SavtgpErgle 5 58 25,000 050850 DN PE)e 82,000
(i) grEbADH Eobd Mood 08% &ogok) 40,000

(iff) 2B Yonb Kool 0B EdBoty 15,000

(v) Bevowdn BHS 83°.12,000

(V) RQardot S00d Sy wFvvdoen .80,000




13. (a) Ms. Nayana, employed in a private sector company, fur

nishes following information for

the year ended 31.3.2022.

Particulars T
Income from salary (Computed) 3,45,000
Bank interest (Fixed deposit) 15,000
Tax on non monetary perquisite paid by employer 20,000
Amount contributed by her during the year are
given below:
Contribution to recognized provident fund 60,000
Health Insurance Premium on self (Paid by 7,000
crossed cheque)
Medical expenditure for dependent sister with 20,000

disability

- e

Compute the total income of Ms.Nayana for the assessment year 2022-2023.
Ms. $a00 2.8 P3e5 LoDRS® SIVA0RHA. &0 31.3.2022 & evosdodhy So1cdd (308

25TOR0 BOAHADA.
DHTEen E z

B850 5008 eEraDo (B 0%8) - 3,45,000
o500 3G (D35 B2265) 10;040
QN 88 B2 P ATESIrd 3@20@5
55y 20,000
B8  BToR0d  SosdyYstwod® BoRo
3oDIB0 :
10803 2o #2555 B8 eR0BVHS : 60,000
I8rs &by Pdr Padbo (56 %), oo 7,000
3902%8)
SEEIED wolpSeso SORS DYod Piss pEyen . 20,000

>

2 JHTre Mod 2022
6§boéo&.

(b) Write deduction U/S 80

-23 & 5y RS DoIHoD8 Ms.dahar oo eEratr

Or
Cto80U of Income Tax Act 1961,

1961 estrosig) 559 D50 DES 80 C o0 8o 1 BRoDH @ahod.

——
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e

A > "
R B.Com, ((n(en) & B.Com, (CA) (CBCS) DEGREE 1

L XAMINATION,
SEPTEMBER 2022,
FOURTI SEMESTER

CORPORATE ACCOUNTING

(w.e.f. 2020 - 21 AB)
Time : Three hours ;

Maximum : 756 marks

(No additional sheet will be supplied)

SECTION A — (5 % b = 25 marks)

Answer any FIVE questions,
Each question carries 5 marks,

DD Do B30 F8rerdsnes Eratuim.
2D 5% 5 8o e0.
1. Forfeiture of shares. |

ToLIO m@.

2. Debentures.

aBovy.

3.  Annuity Method.
vgg ::)ga.

4.  Need for valuation of Goodwill.
HOEDS B0rvergoEBBnRL eSS,

5.  Write about the procedure of Transfer to Reserves.

Besthogen 28 (HBaw> B0 Eraod.

6.  Explain different types of debentures. |
DD BES00000% GZHoVER K80 :);‘;Bo;ﬁo&.

7.  Sinking Fund method.
ESRH 556 K:Bod 95B0%0S.

8.  Write a note on Book Building.
208 @Qoﬁ‘g Hore EPaf0.

e AT



SICTION B — (5 x 10 =50 marks)

Answer ALL questions.
Tdach question carries 10 marks.
7)) (D)L DETERB0e) [FPO5H0.
9O (5350 10 SI8o),e0.

\ 74 :d with a capital of Rs.30,00,000 divided int, %0,
A (jof"l]{p”;’y Lt(l]. "ﬁ:ﬂ Zgir;;t:r:;(i)fv;elrcd to pll),lblic subscription 50,000 shareg payag
hares of Rs.25 each. The ¢ i b
zJI;ILB per share on applications. Rs.10 on allotment and the bglaRTIe :}rll two callg;,
Re.5 each. The company received applications for: 40,000 shareg. T e nﬁoney W
duly received. Make journal entries to record the issue of shares and show how sha,
capital will appear in the Balance Sheet.

DS £od OBE 6. 30,00,000 BoressS0s? 82256 s*dR8. 08 257,563 8. 25 L
Ko 90,000 #e8ceS rerenme DefR0IEHB. Sod 50,000, meavég:n (D205 508 d¢s5un
Boderid erd 232)06..(563;30‘:1.1_0}3 8. 5 Beronodhp e 10 ier D0BI0 Bokd Simy |
TONEE" 8. 5 Tyt Domd LodE 40,000 Sreres (SEFTR) S0, HHEO Siirey

- OOVIED st DerBeen =D, Eond @3 odpe IGS* Ter Suredso D asom |

E5260B008" ¥rSod. _
Or : 7
(b) X Ltd invited applications for 1,00,000 shares of Rs.10 each at a discount of 6% payable |
as follows : _ : :
On application Rs:2.50
On allotment ® @ ~ Rs.3.40
On 1st and final call .Rs.3.50

entries in the journal of company.

X O0BE T8 1,00,000 Trerely Sres 2563

g &r. 10 S"{)_)b 6% & 0658 SEg0en
&3%R0008. TSR ddoHew : ' :

SEPRIP 8. 2.50 -
BeronoPHp &, 3.40
B0E6S BoBain B8 Denyp - &, 3.50

20 208 90,000 76705 Stigrige o 3763 Seranodmrts, 206 S08ahs g a0
1000 arerey D058 DROD o)) Tronare 80 HIBHA, .

KoDb @t), HRTOSE” LBTERH serithen Eranod,

& | QRS 44010 )
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x

¥

‘lg ; (2)

(®)

11. (a)

()

Journalise the followin; i i ]
d;bentures‘ g transactions at the time of issuec and redemption of

i A Debenture issued at Rs.95, repayable at Rs.100.
(ii) A Debenture issued at Rs.95, repayable at Rs.105.
(iti) A Debenture issued at Rs.100, repayable at Rs.105.
(iv) A Debenture issued at Rs.105, repayable at Rs.100.
(v) A Debenture issued at Rs.102, repayable at Rs.105.

Note: The face value of each debenture 1s Rs.100.

B0 DT E00H &BoDE) 26 2Bk IATDBD $2005006° DETHEION Erabod.
() 2% EBoSts &, 95 £ 2B 3D . 100 & 3275 JaIrd.

i) 25 ?»302563:63 657 95 5 =B :55 &7, 105 & 53759 Dasrd.

(i) 2% ABoSE &, 100 £ =8 3D &, 105 § 23759 Bosrd.

(iv) 2% BBosEd &7, 105 £ =6 Db 6. 100 § 925755 Bad.

(v) 28 E&BodHD 8. 1025 B 33 &, 105 & 92750 Dasrd.

S'5: EBoSE By, 3085 Jevd 8. 100.
-~ Or

What are the differénces between debentures and shares?
EBoBLLH TeroH D Ao BoreR) Erolwdw.

Explain various methods of valuation of good will.

" B Arerptd g0 2560I0.

Or
The profits of a firm were as follows::
Year Amount
2018 40,000
2019 30,000

2020 60,000

Non-recurring income of Rs.4,000 is included in the profits of the year 2018. Goods
worth is Rs.6,000 were destroyed in a fire accident, which took place in the year 2019.
The godown was not insured. Profits of 2020 included Rs.5,000 income from
investments. Calculate Goodwill on the basis of two years. Purchase of the average

profit of last 3 years.
3 (2Rs 44010 )




&o e38RS6.
28 3095 $9)3 ergromy o adgo

505850 %o (8.
Bois o - - 40,000
2019 30,000
2020° © 60,000

N - 4,000 58 $08. 2019 D038
2018 Soden8 ergres® DITIB0 5°0 esmrohHdn &, 4 J s

BORD (S37506" K. 6,000 Dews Ko Sk ERADP0008. ATei8n B Bages

12. (@) What is the need

for valuation of shares? And what are the factors that influence ,
valuation of share? -

STTPO B[age
997

(b) The following is the Balanc

Liabilities T
4000, 10% Preference shares of 4,00,000 Sundry
Rs.100 each : value -
60,000 equity shares of Rs.10 each 6,00,000
Bills payable 50,000
Creditors 1,50,000
12,00,000

eJ";SoS’K) BIBEBER 2580580 Q080K Toegee QPR 0ERS® (Serso 83

Assets

T

Assets at book 12,00,000

han the book valye
the remaining 40% at 10% less than the book value. There 1S an unrecorded
liability of Rs.10,000. Find the vajye of each €quity shaye by Net assets methoq.
31.12.2021 % NSC L¢q. D), e99) e5yer 343 808 aesom &8
Open T shen .
.4000, 10% SO55D Teren &, 100 I3 4,00,000 o, &0 12,00,000 -
60,000 &8¢eS rerers 5, 10 SS9 6,00,000
3903 Denen 50,000
2087 ey 1,560,000
12,00,000 12,00.000
60% e 63 s evses® 15%




13. (a) Following 1s the trial balance of Venkat Co.Ltd as on 31 March 2022.

Debit Balances T s Credit Balanées z

Stock 3A1St March 2021 75,000 Sales 3,560,000
) Purchases 2,45,000 Discount 6,000

Wages 50,000 Surplus 31¢ March 2021 15,030

Furniture and Fitting 17,000 Share capital 1,00,000

S.alaries 7,600 Share creditors 17,500 .

Rent 4,950 Reserve 15,500

Sundry expenses - 7,050

Dividend paid 9,000

Debtors 37,500

Plant & Machinery 29,000

Cash at bank 16,200 -

Patents & Trademarks 4,830

5,03,030 5,03,030

Prepare a statement of profit and loss for the year ended 31¢ March 2022 and balance
sheet as on that date. Take into consideration the following adjustments:

‘(i)  Stock on 31%t March 2022 was valued at Rs.82,000
(i) Depreciation on fixed assets @ 10%
(iii) Make a provision for income tax @ 50%

(iv) Ignore corpdrate dividend tax.

Aok onsh OmBE T8 wo¥er °8) 31, 2022 % BIVS Do &B.

205 Do T @ées RISIGM z

S50t 31 576y 2021 75,000 wiyser 3,50,000
SR sl 2,45,000 &om,0f5 5,000
Daren 50,000 gyx5e0 groe 31 $0°8) 2021 15,030
$58)%5 , BRoDeO 17,000 yresdo 1,00,000
B 7,500 pyeamrthen 17,500
&% 4,950 8estsog 15,500
DD PO 7,050

38097 BIBOE 9,000

208a|fdoen 37,600

b

( 2 RS 44010)




(b)

29,000
2065, aoETred
16,200
SKS> SoBas 508
3 4,830 .
S B0t B0Bakn (36 Dt ,
5,03,030 5,03,030
B e

BoD Pty SBRESIT, 48y 31, 2022 &° eotady 205 P UIX0 arep »
esd-esigpo 30 BaEdaod.
(1) 008y 31, 2022 2 HBK> dog goe. 82,000

(i) Roep BOIOSe @10% TP

(ili) esToLY Sy DGO Joe @50%

(iv) 5°53y8e5 32To& [y HATIAED.

Or-
E - - - 7- &} -
3:cplaun tahevlmportant provisions of Companies Act 2013, in respect of issue of shars
0 2788 D000 Konde o 2013 S X : ”
) 5209)5 DOFIOH 9H380D04.

6
10
2 RS 4
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THRER YEAR 15.Com, (Gon
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i (O (CHCE) DEGREY, EXAMINATION,

FOURTH SEMESTIR
COBT AND MANAGEMENT ACCOUNTING
(w01, 2020 ~ 21 AR)

Maximum : 75 marks

R S ——

(No additional sheet will be supplied)

BECTION A — (6 » 6 = 25 marks)

R T I T R

Answer any FIVE questions,
Each question carries 5 marks,
THD D5y (St BHIGHHNO) ErO5HIH0,
(56 (555 B H3E0, !
What is Cost Accounting?
o5 e ool ebmhn? |
: |
LIFO Method. ;
LIFO 546 |
What is Job costing ? |
erds 5ol e HDs7

e T AN

Explain limitations of financial statment analysis.
sy 175035 13 G238, B0 D5B0B0E.

Faxplain contribution.

DO SHDT?

Write about Bin-card.
Bt 800 H5BOBOG.

Difference between Job costing and batch costing.

ey 53R 5Bt oy hgoheh flo daBa?

8,  What is Break-even-analysis?
(@5 Bd5 S Bob DsBoBod. .

e

R A T PR R R e ety AT T

L

PSSR, L SR




9.

SECTION B— (5x10= 50 marks)

Answer ALL questions.
Each question carries 10 marks.
e (5405 BATGT DI [:J‘o‘i)oén.

B0 (59> 10 3702

(a) Venkat Industries produced 1,00,000 units of a produced in the year 202] »

following are the expenses.
Rs.
Stock of raw materials 1-1-2021 20,000
Stock of raw materials 31-12-2021 40,000
Wages 1,50,000
Purchases 3,20,000
Factory expenses 50,000
Office expenses 75,000
Selling expenses 50,000

Selling price for the sold 88,000 @ Rs.20 prepare cost sheet.

2055 30455 2021 5 Sons® 1,00,000 Ao &5 DoB. &5 vinw &

Szan.
&
302 56% Deg 1-1-2021 20,000
S04 555% e 31-12-2021 40,000
o>
1,50,000
5S0R"
? ‘ 3,20,000
- .
V0 P 50,000
E
55 Py 75,000
CRYED Dhpm , 50,000

g5 88,000 cloren @ 6. 20 Byihs S8 St Sapoa

Or
| ﬂ

.



(b)

prepare a cost sheet from the following data to find out profit and cost per unit.

Rs.
Raw material consumed 1,80,000
Direct wages 90,000
Factory overheads 20,000

Office overheads

10% of factory

cost
Selling price 120 per unit
Selling overheads 15,000
Units produced 4,600
Units sold 4,000

SSm0eS 1 8 Byot0 2Ba0 ero SRARIERE Jeorr BoB

BOSTEIDAIN[.

SITTBo B0d Bk FIBED

g

2@ TR0V Db HT T 1,80,000

pé;,s‘:%moep 90,000
age-w&r&a 20,000
eshD L35G $ry8 Syoo0 p 10%
SSa0e5 1 8 ednsd 88 &°.120
ERBER) L58rE) 15,000
dnd DD 05050e5) 4,500
esDyd AT 4,000

"
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10.
Unit cost
- Units
Date Particulars (Rs)
9 =
4-8-21  Purchases 300 .50
12-9-21 Purchases 220 6.50
16-9-21 Issue of material 360 -
19-9-21 Purchases 220 7.00
25-9-21 Issue of material 315 -
29-9-21 Purchases 225 7.50
Br63 35006" FIFO 5566° 225, ST BATE BoHod.
dfareDe5
é8 250 a7
S5(65°.)
4-8-21 §‘A‘nﬁ"é_p
300 5.50
12-9-21
%ﬁe% 220) 6.50
16-9-21 A Ao HE
o 360 -
19-9.21
g‘;ﬁoﬁ‘dv 5 700
25-9-21 o fiA? = !58 3 E
. 315 -
29921 gty
225 7.50
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11.

{b), Prepareistores ledger from the followi
e following information using weighted average s A,

Date ) s>
Particulars Uni Unit cost
p Inits (7
7-8-21 Purchasges e
13-9-21 Purchases 210 2.5
15-9-21 Issue of material ,}:f 290
17'9‘21 Pm‘Chaseg 264D p
929.9 220 2.00
-9-21  Issue of material 915
26-9-21 P & :
R i ditscs 225 2.0
@ o
86 D ngaé‘ 5y e ey 6570 L.
4 l-v”i‘af
os DHTo) A5 D) Sttt
R~ (52
7-8-21
e 210 2.50
13-9-21
SR 320 2.50
15:921  pnfss 3086055 75 _
17-921 sof'ay 220 3.00
229-21  zrfA%5 2088008) 215 )
26:9-21 SRy 225 3.00
(a) From the following information prepare Job cost sheet No.503.
Rs.
Materials 3,000
Wages , 2,000
Factory overheads 50% wages paid.
Administrative office 80% of factory on cost.
Selling and distributary 20% of factory cost.
e B0 DSTEt b B50H 5 5039 Basrdd dabod.
4.
3,000
24809%)
2,000
i o)
¢-§B 5552 Ey HETO » 50%

Do PA) :rgb &b gp 80%

€550, Sohe PEND 2resB 5ga0 P 20%
Or

5 (‘2 RS 44011 )
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(b)

(a)

ings per annum to Ushga F,
ing Ltd is commiltted to SUpP1Y 48,090 bearl?{iqlpfls inventory holdingqcr(;S "
Anciibonrmfl: :i.aﬂ;r basis. It is estimated and its cost hs.1 ¢
steady supply 8.

el ; ] 4 o

i i f’lc llre.
. il rdel’d.

(1) Find out minimum inventory cost.

QB0 H0IHT°DE 48
ABC B8R dBE Tt &ererd (205885 @ g 68 R ) 000

BBofows REIo> a0 Keyerd o8, FYoR H50ho 28 BB0AL Ve 8.1 SuBaty 605
&B)B8 D o5 Hidho §5.3,200

®  B0oR &8)8 doy; oot 6550 88070

(W) Do vPoiBalias $8arere S wontin B80T

(i) EJ3 qAgotB 23050 B 0808,

From the following information, Prépare a comparative income statement.
31-3-2021 31-3-2022
Rs. Rs.
10,00,000  8,00,000
6,00,000 4,00,000

Sales

Cost of goods sold

Administrative, selling and distribution

— ‘ 2,00,000 1,40,000
Others incomes . 40,000 20,000
Income Tax

1,20,000 1,40,000
808 S3rT8o Sy0d é&)e)méég S0 JDEESS BATSHDBoHr08.

31-3-2021 31-3-2022

Koo, ey
eiyses 10,00,000  8,00,000
@29 S Ssato 6,00,000  4,00,000

20203, eyso 20801 Soded s 2,00,000 1, 40,000

aBY esorairen 40,000 20,000

STALY iy 1,20,000  1,40,000

Or
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b -



13.

(b)

(@)

¢ ‘O : Y 1 '
FFrom the following particulars obtained

from tho records of a company, Prepare #

common s1z¢ statement of profit and Joss

31.83.2019  31-3-2018

Particulars

| s, s,

Revenue from operations (snles) G0,00,000  36,00,000
Purchases of stock-in-trade 40,00,000 22,560,000
Change in inventorics 3,00,000  2,00,000
Other income 2,00,000 1,60,000
Other expenses 1,560,000 1,00,000
Rate of Income Tax 35% 40%

e 1808 JHToEL &8 Eod HdsTen ol wEBodmrd). 3536577 B EATTr 22 2hBESy HASrE)

dood.
s 31-3-2019  31-3-2018
. 6.
sesHerare ook (08ysen) 60,00,000  35,00,000
HEED BB TR | 40,00,000  22,50,000
HRgoeBes” 5378 3,00,000  2,00,000
BB esT05T°e0 200,000  1,50,000
[BE PENO 1,50,000  1,00,000
esTORR) D0y Bew 35% 40%
Calculate BEP from the following figures

0, Fixed expenses Rs.75,000, Direct materials Rs.1,00,000, Direct

Sales Rs.3,00,00
Rs.40,000.

Rs.60,000, Direct expenses

Arss 5o o HEopod BotY (BEP) EROR™H04.

labour

espsTed &5°.3,00,000, 3855037760 85°.75,000, (5655 D380 85°.1,00,000, [SE5E =

S5-.60,000, (Sg5 pEen 8°.40,000.
Or

7 (2 RS 4401D




(b)

From the following particulars calculate

()
(1)
(1ii)
(iv)
)

P/V Ratio
Profit when sales are Rs.70,000

New break-even point if selling price is reduced by 20%

Fixed expenses Rs.18,000

Break even point Rs.50,000

s 1808 2S00 Hyod 88,0508,

) 7
(1)
(iii)
@iv)

v)

PIV 258

es:ﬁoés"en 85°.70,000 BOIIPED ergio
e:’aoéa’g) S8 20% éﬁfg §‘§ ééséue)s DoY)
?\35 Jg08reen 83°.18,000

SR0doeg Botr) 8.50,000
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SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.

Define Information.

What are the advantages of DBMS?

Define entity and its types.

What is meant by Table Truncation? .
What are the data types available in PL/SQL.
What is constraint?

What is the use of views?

What is meant by Exception?
SECTIONB— (5 x10= 50 marks)

Answer FIVE questions.

(a) Explain the components of DBMS.
Or

Explain the advantages and disadvantages of DBMS. f

nt categories of Data models.
Or

(b)
(s) Explain differe

(t) Explain three level Architecture.

Briefly explain about CODD's rules.
Or

e

(a)

(b) Explain different components of an E-R model.

" -
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13.

(a)

(b)

(b)

Data types available in HQL,

Oy

Explain various

HSQL

Explain various set operal fone i

Explain steps to create PL/SQL progran,
Or

Briefly explain structure of PL/SQL.

(“‘S 1401 @

e
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FOURTH SEMESTER
BUSINESS LAW
(w.e.f. 2020-21 AB)

(No additional sheet will be supplied)

Maximum

s
. 75 mArkE

Voidable Contract.
52&3‘&:) sTolTS)-

Consideration.
2&900-

Discharge of Contract.

5°OlTE) G3208), &Eﬁé

Unpaid vendor-
2900 2EG.

Cyber Law.

Pwb e

Specific offer.
287 (075

.

SECTIONA — (5 x5=125 marks)

Answer any FIVE questions.

Each question carries 5 marks.

YA ot (%05 SHTTHI 052953,

56 (59 5 5760

Conditions Vs Warranties.

L5605 V8 Jrbed.

Features of the Consumer Protection Act.
fa@rHTée SBELE S0 Baok), OLETR-

ol Mo s e

PP ——— ey
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10. (a) Define acceptance. What are the essentials of a valid acceptance,

A0 BITAN? TR edEgTobd Beyod.
Or
(b)) “No Consideration ~ No Contract” discuss its exceptional rules,

‘@500 B2 SO, BH” — M5 anoHe RDAIB5300:5) B8yosusn,

11. (a) Explain the rules relating to contingent contract,

esMoboY a:bompg P020809:% DADBI 0% 2560504,
Or

Contract,

(b) Distinguish betwecn a gg]

13. @) wWrite a note on digital‘sign.qtum’

S0 506 10) Erasos,

2ober 5584, Srorg 38600 HBos FrdHod,

2
$

(b) What ig meant by Breach of Contract? What are the remedies to the breact _

e O WA



